
1. 

Paper : BOT-HG-3026 
(Environmental Biotechnology) 

Full Marks : 60 

Time: Three hours 

The figures in the margin indicate 
full marks for the questions. 

Answer the following as directed : 

(a) Which one of the following is mainly 
responsible for ozone layer depletion ? 

() CO 

(i) CFC 

(iüi) CH, 

() 

fiu) cO 

Co, 

(ü) CFC 

(ii) CH,

(iv) CO 

1x7=7 
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(b) Peroxyacetyl nitrate is mainly 
responsible for 

(c) For which purpose oxidative ponds are 
being used ? 

(Fill in the blank) 

(d) Write the full form of WCED. 

WCED ara f 

(e) Who mainly led Narmada Bachao 
Andolan ? 

Which of the following is responsible 
for Bhopal Disaster, 3rd December, 
1984 ? 

() Methyl isocyanate 

(i) Nuclear explosion 

3 (Sem-3/CBCS) BOT HG/RC/G 11 Contd. 



3 

3 
(Se

m-
3/C

BC
S) BOT 

HG
/RC

/G 13
 

Co
ntd

. 

po
llu

tio
n 

bo
ard

s. 

(d) 

Wh
at 

is
 

the role
 of

 
ce

nt
ra

l and 

sta
te 

4.
 

w
a
st

e
w

a
te

r 
tr

e
a
tm

e
n

t.
 

(a) 

D
es

cr
ib

e 

va
rio

us
 

pr
oc

es
se

s 

use
d for 

10
 

(c) 

Wh
at is

 
xe

no
bi

ot
ic 

co
m

po
un

d 

? 

(e) 

Ra
m

sa
r 

C
on

ve
nt

io
n,

 

197
1 

(b) 

W
rite

 a 
sh

or
t 

no
te on

 

aci
d 

rai
n. 

(d) 
W

ate
r 

po
llu

tio
n 

(a) 

Wh
at is

 
bi

om
ag

ni
fic

at
io

n 

? 

2.
 

Giv
e 

ver
y 

sh
or

t 

an
sw

er
s

: 

2x
4=

8 

en
vi

ro
nm

en
ta

l 
iss

ue
s 

(c) 

A
nt

hr
op

og
en

ic
 

eff
ec

t on
 

glo
ba

l 

(b) 
B

io
re

ac
to

rs
 

the un
it o

f (g) 

Pe
rm

iss
ibl

e 

noi
se lev
el is

 
m

ea
su

red
 in

 

(Fil
l in

 
the 

bla
nk

) 

C
on

se
rv

at
io

n Act
, 

198
0 

(a) 

Sa
lie

nt
 

fe
at

ur
es

 of
 

the 

Fo
re

st 

(iu) 
Su

lph
ur

dio
xid

e
(ii) 

Me
rcu

ry 3.
 

Wr
ite 

5×
3-

15
 

(Se
m-

3/C
BC

S) BOT 
HG

/RC
/G 12

 

no
tes

 

on: (an
y 

thr
ee

) 



H
ow

 
is econom

ic 

grow
th 

related
to

 environm
ent 

? E
xplain

th
e 

possible 

(c) 

Or/qei W
rite 

in 

detail 

about 
the 

role 
of 

NGOs 4+6-10 

10 in 

conservation 
of 

biodiversity. 

(b) 

W
rite 

an 

essay 
on 

biotechnological 

O
r/ 

of 

management 

D
escribe 

th
e 

m
ajor 

reco
m

m
en

d
atio

n
s 

m
ade 

in
 

Rio 

E
arth 

Sum
m

it-U
N

C
E

D
, 

1992. 

W
hat 

are 

th
e 

sim
ilarities 

betw
een 

for 

approach 

10 environm
ental 

issues.

7+
3=

10 

O
r/q 

2+8=10 

W
here 

was 

Gandham
ardan 

and 

Silent Valley 

M
ovement 

organised 
? Critically 

analyse 

the 

im
pacts 

and 

outcom
e

of 

those 
m

ovem
ents.

5000 

3 

(Sem-3/CBCS) 
BOT 

HG/RC/G
15 3 (Sem-3/CBCS) 
BOT 

HG/RC/G 

14 

m
easures

for 

better 

econom
ic

grow
th 

w
ithout

affecting 
environm

ent. 

S
tockholm

 

C
onference, 

1
9

7
2

 

an
d

 

Rio E
arth 

Sum
it-U

N
C

E
D

, 
1992. 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

